Puzzles and Problems Answers

Flagpole height: 7.16 m or 23.5 feet or 282 in

[image: image1.jpg]



Zirkle volume: 1.02 m3 or 1.02x106 m3 or 36.4 ft3 or 62,900 in3

Dice problem: 5/27 or 18.5185%

Speed of Sound: 343 m/s

Number of Hershey Kisses: 597

Pseudo-sudoku: Key is that the two most central spaces each have six adjacent squares, so they must contain 8 and 1.  This forces 2 and 7 to be at the opposite squares.  After that, there is some flexibility in placement of the rest.

Birthday Business:  This gets messy fast, but here are some first steps.

a) Prob of a person’s birthday being during six days is 6/365, so average number of birthdays is 240/365 for a group of 40.

b) (6/365)2x(359/365)38x40x39/2=11% (prob of 2 in times prob of rest out divided by all combinations)
c) (1/365)x(39+38+…+1) minus the probability of three, four, five with same birthday, which otherwise inflates the probability to >100%.

Clock a: Happens 11 times, with multiples of 5.45454545 minutes past the hour

Clock b: Happens 132 times (66 ambiguous pairs)
